
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 2, Bar subject to Extension       problem 2.7, page 55 
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Remarks:  See §2.2.1, pages 19 till 21 

See §2.3, pages 24 till 26 
See §2.6, pages 34 onwards 

 
Answers:  
 
a. 298,7 N/mmσ =   
b. 65,97 MNEA =  
c. 31,0 kNF =  
d. 0, 4 mmΔ =  
  
Explanation:  
 
a. 3 2 3 2(210 10  N/mm )(0,47 10 ) 98,7 N/mmσ −= × × =  
 
b. 3 2 21

4(210 10  N/mm )( π (20 mm) ) 65,97 MNEA = × × =  

 
c. 2 21

4(98,7 N/mm )( π (20 mm) ) 31,0 kNF = × =  
 

d. 
3

3 2 21
4

(31,0 10  N)(850 mm) 0,4 mm
(210 10  N/mm )( π (20 mm) )

×
Δ = =

× ×
 

 

 


